Respondent Category	Type of Respondent	Burden Activity	Estimated Number of Respondents	Responses per Respondent	Total Annual Responses
Individuals / Households	SNAP Households	Number of supplemental cases needed to meet 200 minimum sample size for all cost neutrality reports **	6277	1	6277
S	Subtotal Individuals/H	ouseholds	6277	1	6277
State Government	SNAP State Agencies	Preparing and submitting a new demonstration project request	10	1	10
State Government	SNAP State Agencies	Preparing and submitting 39 0.4410		17.199	
State Government	SNAP State Agencies	Preparing and submitting data reports.	39	1.5921	62.0921
Subtotal State Agencies			53	1.6847	89.2911
Grand Total Households + State Agencies			6330	1.0057	6366.2911

https://www.bls.gov/oes/current/oes434061.htm

\* Burden to individual SNAP households is new in the ICR.

\*\* Estimates based on FY2022 data

Estimated Hours Per Response	Estimated Total Burden Hours	Base Hourly Wage Rate (See BLS)	Fully-Loaded Wage Rate	Total Annualized Cost of Respondent Burden	Burden Hours in Use without a Valid OMB Control Number	Previously Approved Burden Hours
	Reporting					
	Households					
0.5000	3138.5000	\$7.25	\$7.25	\$22,754.13	3138.5000	0
0.5000	3138.5000	\$7.25	\$7.25	\$22,754.13	3138.5	0
	State Agencies					
1105.2308	11052.3080	\$23.22	\$30.88	\$341,324.01	11052.308	0
24.3000	417.9357	\$23.22	\$30.88	\$12,906.94	417.9357	0
81.4375	5056.6258	\$23.22	\$30.88	\$156,161.75	5056.62582236842	0
185.0898	16526.8695	\$23.22	\$30.88	\$510,392.70	16526.8695223684	0
3.0890	19665.3695			\$533,146.83	19665.3695223684	0

Difference Due to Adjustments	Differences Due to Program Changes		
	1		
3138.5000	0		
3138.5	0		
11052.308	0		
417.9357	0		
5056.62582236842	0		
16526.8695223684	0		
19665.3695223684	0		

Estimates of Annualized Cost						
Activities	Hours Spent on Collection	Number of Collections	Costs or Hourly Wage Rate	Total Cost		
50% Reimbursement Cost to States for reporting administrative cost	N/A	N/A	N/A	N/A		
Program Analyst GS 13 Step 1 Estimates of Annualized Cost to Federal Government for analyzing data reports	2	13.6667	\$42.41	\$1,159.21		
Program Analyst GS 13 Step 1 Estimates of Annualized Cost to Federal Government for reviewing data reports	2	62.0921	\$42.41	\$5,266.65		
Program Analyst GS 13 Step 1 Estimates of Annualized Cost to Federal Government for reviewing new demonstration project requests	6	10	\$42.41	\$2,544.60		
Branch Chief GS 14 Step 1 Estimates of Annualized Cost to Federal Government for reviewing new demonstration project requests	2	10	\$50.12	\$1,002.40		
Program Analyst GS 13 Step 1 Estimates of Annualized Cost to Federal Government for reviewing modification and extension requests	2	17.199	\$42.41	\$1,458.82		
Branch Chief GS 14 Step 1 Estimates of Annualized Cost to Federal Government for reviewing modification and extension requests	1	17.199	\$50.12	\$862.01		
Sub Total Cost to Government of Demonstration Projects	15	89.2911	\$44.98	\$12,293.69		
Grand Total Cost to Federal Government	15	89.2911	\$44.98	\$12,293.69		

https://www.opm.gov/policy-data-oversight/pay-leave/salaries-wages/salary-tables/pdf/2024/GS\_

Gederal Government					
Fringe Benefits Cost for Staff (0.33)	Overall Cost w/ Fringe Benefits for Staff	Burden Hours in Use without a Valid OMB Control Number	Previously Approved Burden Hours	Difference Due to Adjustments	Differences Due to Program Changes
N/A	\$268,210.19	N/A	0	N/A	0
\$382.54	\$1,541.74	2	0	2	0
\$1,738.00	\$7,004.65	2	0	2	0
\$839.72	\$3,384.32	6	0	6	0
\$330.79	\$1,333.19	2	0	2	0
\$481.41	\$1,940.23	2	0	2	0
\$284.46	\$1,146.48	1	0	1	0
\$4,056.92	\$284,560.80	15	0	15	0
\$4,056.92	\$284,560.80	15	0	15	0

<u>h.pdf</u>